
Chipsmall Limited consists of a professional team with an average of over 10 year of expertise in the distribution

of electronic components. Based in Hongkong, we have already established firm and mutual-benefit business

relationships with customers from,Europe,America and south Asia,supplying obsolete and hard-to-find components

to meet their specific needs.

With the principle of “Quality Parts,Customers Priority,Honest Operation,and Considerate Service”,our business

mainly focus on the distribution of electronic components. Line cards we deal with include

Microchip,ALPS,ROHM,Xilinx,Pulse,ON,Everlight and Freescale. Main products comprise

IC,Modules,Potentiometer,IC Socket,Relay,Connector.Our parts cover such applications as commercial,industrial,

and automotives areas.

We are looking forward to setting up business relationship with you and hope to provide you with the best service

and solution. Let us make a better world for our industry!

Contact us
Tel: +86-755-8981 8866 Fax: +86-755-8427 6832

Email & Skype: info@chipsmall.com Web: www.chipsmall.com

Address: A1208, Overseas Decoration Building, #122 Zhenhua RD., Futian, Shenzhen, China

    



 0.420 

 0.183 

 0.580 

 0.365 

M2.5 X 0.45-6H

TAPPED THRU

 0.267 

 0.380 

 0.240 

 0.170 

 0.175 
M2.5 X 0.45-6H

TAPPED THRU

 0.250 

 0.380 

 0.042 

 2X 0.090 

 0.282 

EXPLO DED VIEW

3U RTM PLUG - IN C ARD ASSEMBLY

(NO T PART O F HANDLE KIT)
C APTIVE SLEEVE & SC REW

TO P HANDLE

M2.5-0.45X11m m  LO NG

M2.5-0.45X8m m  LO NG

C APTIVE SC REW

PAN HEAD SC REW

PRINTED C IRC UIT BO ARD
(NO T PART O F HANDLE KIT)

M2.5-0.45X6m m  LO NG
PAN HEAD SC REW

EMC  G ASKETED FRO NT PANEL,
SHO WN 3U X 4HP
(NO T PART O F HANDLE KIT)

ESD PIN

HANDLE LEVER,
INDUSTRIAL G RADE PLASTIC

KEYING  BRAC KET,
DIEC AST ZINC

FRO NT PANEL

 0.337 

 1.38 

0.100

O PENING  FO R

 0.920 

M2.5 X 0.45-6H

TAPPED THRU

3X 0.098
KEYING  C HAMBERS

 0.100 

M2.5 X 0.45-6H

TAPPED

 0.337 

 0.0215 

 0.325 

 0.200 TYP 

 0.640 

 0.394 

HANDLE LEVER,

ESD PIN

INDUSTRIAL G RADE PLASTIC KEYING  BRAC KET,
DIEC AST ZINC

 0.920 

 1.38 

 0.337 

TAPPED THRU

M2.5 X 0.45-6HO PENING  FO R

FRO NT PANEL

0.100

 0.137 

MATING  PLANE
PC B C O MPO NENT SIDE

PC B FRO NT EDG E

 0.140 

 0
.7

8
8

 M
A

X
 

 0.154 

 0.275 

MATING  PLANE
PC B C O MPO NENT SIDE

PC B FRO NT EDG E

 0
.7

8
8

 M
A

X
 

 0.140 

 0.154 

 0.275 

3X 0.098
KEYING  C HAMBERS

 0.200 TYP 

 0.337 

 0.100 

 0.0215 

 2X 0.294 

 0.325 

 0.640 

M2.5 X 0.45-6H

TAPPED

EXPLO DED VIEW

6U O R 9U PLUG - IN C ARD ASSEMBLY

M2.5-0.45X11m m  LO NG
C APTIVE SC REW

PAN HEAD SC REW
M2.5-0.45X6m m  LO NG

PRINTED C IRC UIT BO ARD
(NO T PART O F HANDLE KIT)

M2.5-0.45X6m m  LO NG
PAN HEAD SC REW

M2.5-0.45X6m m  LO NG

C APTIVE SC REW

PAN HEAD SC REW

BO TTO M HANDLE

M2.5-0.45X11m m  LO NG

SHO WN 6U X 4HP
(NO T PART O F HANDLE KIT)

EMC  G ASKETED FRO NT PANEL,

M2.5-0.45X6m m  LO NG
PAN HEAD SC REW

ITEM NO DESC RIPTIO N Q TY U/ M

1 HANDLE, BO TTO M, TYPE IV 1 EAC H

2 HANDLE, TO P, TYPE IV 1 EAC H

3 L-BRAC KET, METAL 1 EAC H

4 SC REW, PAN HEAD, M2.5-0.45X6m m 5 EAC H

5 SC REW, C APTIVE, M2.5-0.45X11m m 2 EAC H

6 SC REW, FLAT HEAD, M2.5-0.45X8m m 1 EAC H

90100016 PARTS LIST

(FO R 6U O R 9U FRO NT PANEL ASSEMBLY)

BO TTO M HANDLE DETAIL

TO P HANDLE DETAIL

L- BRAC KET DETAIL

(PART O F 90100016)

ITEM NO DESC RIPTIO N Q TY U/ M

1 HANDLE, BO TTO M, TYPE IV 1 EAC H

2 SC REW, PAN HEAD, M2.5-0.45X6m m 1 EAC H

3 SC REW, PAN HEAD, M2.5-0.45X8m m 1 EAC H

4 SC REW, PAN HEAD, M2.5-0.45X10m m 2 EAC H

5 HEX NUT, M2.5X0.45-6H 2 EAC H

6 SC REW, C APTIVE, M2.5-0.45X11m m 2 EAC H

7 WASHER, SPLIT LO C K, # 3 2 EAC H

90100002- 1 PARTS LIST

(FO R 3U FRO NT PANEL ASSEMBLY)

90100002 PARTS LIST

(FO R 3U RTM PANEL ASSEMBLY)

ITEM NO DESC RIPTIO N Q TY U/ M

1 HANDLE, TO P, TYPE IV 1 EAC H

2 SC REW, PAN HEAD, M2.5-0.45X6m m 1 EAC H

3 SC REW, PAN HEAD, M2.5-0.45X8m m 1 EAC H

4 SC REW, PAN HEAD, M2.5-0.45X10m m 2 EAC H

5 HEX NUT, M2.5X0.45-6H 2 EAC H

6 SC REW, C APTIVE, M2.5-0.45X11m m 2 EAC H

7 WASHER, SPLIT LO C K, # 3 2 EAC H

M2.5-0.45X11m m  LO NG
C APTIVE SC REW

PAN HEAD SC REW

PRINTED C IRC UIT BO ARD
(NO T PART O F HANDLE KIT)

C APTIVE SLEEVE & SC REW

M2.5-0.45X8m m  LO NG

BO TTO M HANDLE

PAN HEAD SC REW
M2.5-0.45X6m m  LO NG

SHO WN 3U X 4HP
(NO T PART O F HANDLE KIT)

(NO T PART O F HANDLE KIT)

EMC  G ASKETED FRO NT PANEL,

EXPLO DED VIEW

3U FRO NT PLUG - IN C ARD ASSEMBLY

02/ 27/ 15

IEL-TYPE-IV

ALL

08/ 31/ 12TRUSHAR

INITIAL RELEASE

   CA  91605

O R AS A WHO LE WITHO UT THE WRITTEN PERMISSIO N O F VEC TO R ELEC TRO NIC S

HANDLE, TYPE IV

   NORTH HOLLYWOOD,

& TEC HNO LO G Y, INC  IS PRO HIBITED.

PRO PRIETA RY A ND C O NFIDENTIA L

THIRD ANG LE PRO JEC TIO N

MATERIAL

FINISH

DRAWN

C HEC KED

ENG  APPR.

MFG  APPR.

Q .A.

C O MMENTS:

DATENAME

SIZE

D

DWG .  NO .

SC ALE: 1:1

B

C

D

   11115 VANOWEN ST.,

VEC TO R ELEC TRO NIC S & TEC HNO LO G Y, INC .  ANY REPRO DUC TIO N IN PART

1101.10

SHEET 1 O F 1

D
IE

L
-T

Y
P

E
-I

V
R

E
V

F

E

F

E

12345678

8 7 6 5 4 3 2 1

D

C

B

A UNLESS O THERWISE SPEC IFIED:

REV

B ADDED P/ N : 90100002, FO R RTM PANELS

C AG E C O DE : 82893

INJEC TO R/ EJEC TO R

A

ALL

   www.vectorelect.com

A

APPRO VED
THE INFO RMATIO N C O NTAINED IN THIS DRAWING  IS THE SO LE PRO PERTY O F

DATEDESC RIPTIO N

B

REVZO NE

B

REVISIO NS

DIMENSIO NS ARE IN INC HES

TO LERANC ES:

DEC   X.X           0.1

DEC   X.XX         0.03

DEC   X.XXX       0.010

FRAC TIO NS       0.050

ANG LES             1

09/ 19/ 17


	Contact us

